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Question 1
) 1 2 1
a. Factorize —t+t—+—
x ¥y

b. Suppose a certain species of bees increase in number according to the
exponential equation g = 15 €**', where t is measured in days.
In how many days, correct to the nearest tenth, will there be 485 bees?

c. Find the solution set of the equation

1+1—=0

x+2 x-3
d. Find the solution set of system of simultaneous equation.

x-2 y-1_13

2 4 12
2-x 3+y 11
2 3 6

Question 2

a . Find the solution of exponential equation
(3/4)* = 64/27

b. Find the solution set of logarithmic equation.
loga®™ +4log? = 7

c. In the figure, XC is a tangent and Y is the mid-point of the arc BC.
If <X =28" and <BCA =2 <ACX,
calculate < CBA and < CBY.

; A
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Question 3

I. Given that y =-2x* + 3x +6, calculate
a) the gradient of the tangent to the curve of y at the point
where x=-1.
b) the value of x for which y has its maximum value.

c) the value of x for which y has its minimum value.
1. Solve AABC if a=70 mm, b = 40mm, and C = 64°.

b b

&

Question 4

a .Evaluate the following definite integral;

3
j(4x2+6x—5)dx
2

0.5 -0.1
b. Find the inverse of the matrix( J

2 -4

c. Sketch the graph of the given quadratic equation using the intercepts and the
coordinates of the vertex
y =x*-2x-1
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